



som legger til tre brøk

StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\frac{1}{8} + \frac{3}{6} + \frac{3}{9} =$$

$$\frac{5}{2} + \frac{3}{2} + \frac{5}{7} =$$

$$\frac{2}{6} + \frac{4}{9} + \frac{6}{9} =$$

$$\frac{3}{4} + 1\frac{1}{3} + \frac{2}{9} =$$

$$\frac{4}{7} + \frac{7}{5} + \frac{2}{3} =$$

$$\frac{2}{8} + \frac{3}{9} + \frac{1}{7} =$$

$$\frac{4}{5} + \frac{2}{4} + \frac{7}{4} =$$

$$1\frac{1}{6} + \frac{6}{4} + \frac{4}{5} =$$

$$\frac{6}{4} + \frac{1}{4} + \frac{7}{6} =$$

$$2\frac{1}{3} + \frac{6}{8} + \frac{2}{9} =$$